Dr. Bryan Carrillo

Knowledge Checks Chapter 1.6
1. Take
—T if —3<2<1
f(x) -1 ifl<z<3

r—7 if3<x<T.
Evaluate fatx = -3, 2=0,z=1,2=3, =5, x = 8.
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2. Take f as before. Determine the domain of f. Use a sketch of the function f to determine the

range of f.
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3. Take
A={(-3,0,(0,3],(3,7]} and B={(—-4,1],(1,2],(2,8]}.

Find a common refinement for A and B.
Many examples, here is one.
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4. Take

—x if —3<a2<1

fle)y=<R22-1 ifl<z<3 and g(:v):{
r—T7 if3<x<7

20 —1 if —4d<zx<1
—3z+9 ifl<az<8.

Determine D(f + g), D(fg), and D (g) :
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5. Take

-z if —3<z<1

Compute f + g, fg,and L.
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6. Take
2x — 1 ife <1
f(x)_{—3x+9 ifz> 1.
Sketch on a number line the solution set to the inequality f(z) > 0.
§ 2x — | L -3x+9
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7. Take
2x — 1 ifx <1 —1.5 ifxr<—1
/() {—3m+9 o1 nd 9@ {3x—9 o> 1.

Sketch on a number line the solution set to the inequality f(z) > g(z).
£ ax-| 2x -\ L —3%x+14

Ix—-94

9 -1.5 ': 3x-9

(-w,-!]"' -1, 1) iD,O“B

Foa>gen [fo> 9£x) £00Y9(x)
2% -] 3y-1:5 |2x-1>3%x-9 \-3x+Q 73X~9
2x> -0:5 8y % 18 > 6X%

X > -0.25 or 3”» %

oo L X438 ::3

X?2~- 9

=) (oo In 5,9V (LN Ee8Y) U (C1 ) 0 -2, 2))
§ tuc,nouLud
(=1,3) fincanswer

Copyright 2024 ©Bryan Carrillo. All rights reserved. No part of this publication may be reproduced or transmitted in
any form or by any means, electronic or mechanical, including photocopy, recording, or any information storage and
retrieval system, without permission in writing from Bryan Carrillo.




Knowledge Checks Chapter 1.6

Dr. Bryan Carrillo

8. Sketch on a number line the solution set to the inequality

|z —2[ > [3z +1].
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